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quad(@(x)sign(x-0.5),-1,1)/ quad(@(x)1,-1,1)

ans =
-0.5000

>> quad(@(x)x.*sign(x-0.5),-1,1)/ quad(@(x)x.*x,-1,1)

ans =
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quad(@(x)sign(x),-1,1)/ quad(@(x)1,-1,1)
ans =
0.0000
>> quad(@(x)x.*sign(x),-1,1)/ quad(@(x)x.*x,-1,1)
ans =

1. 5000
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>> quad(@(x)sign(x-0.5)./sqrt(1-x.A2),-1,1)/quad(@(x)1./sqrt(1-x.*2),-1,1)
quad(@(x)sign(x-0.5)./sqrt(1-x.2).*x,-1,1)/quad(@(x)x.*2./sqrt(1-x.2),-1,1)
ans =
-0.3333
ans =

1.1027
Py (x)=-0.3333+1.1027*x
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syms k x2; y1=-1+k*(-1-x2); y2=-1; y3=-1+k*(1/2-x2); y4=-1+k*(1-x2); x1=-1; x3=1/2; x4=1;
S=simplify((x2+1)*(-1-y1)/2+(1/2-x2)*(y3+1)/2+1/4*(1-y4+1-y3))

solve(diff(S,x2),x2)

fori=1:100

K(i)=i/25;

Y(i)=quadl(@(x)abs(-1+K(i)*(x+1/2)-sign(x-1/2)),-1,1);

end

plot(K,Y)

S=
K*x2/2+k*x2+1/4*k+1
ans =

-1/2
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